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Released Today! 1.]2016/11 New E. HANABW151 Exam Dumps (PDF and VCE) 99Q& As Downl oad:
http://www.braindump2go.com/e-hanabw151.html 2.]2016/11 New E_HANABW151 Exam Questions and Answers:
https://1drv.ms/b/sl Avl 7wzKf6QBjgQoPVHTRY 2sFeft3 QUESTION 51Which level of the quality control did the data undergo?
Please choose the correct answer.Response: A.  EDW coreB. BW workspace layerC.  Open operational LayerD. Agile data
mart layer Answer: B QUESTION 52Which are the main benefits of converting to HANA - Optimized DSO? There are 2 correct
answers to this question.Response: A.  Significantly activedataB. Data LayeringC. Faster reporting on DSO dataD.
Performance check Answer: AC QUESTION 53What are the three major components of SAP BW On HANAThere are 3 correct
answers to this question.Response: A. Master dataB. Crystal reportsC.  Other databasesD. Info cubeE. DSO Answer: ADE
QUESTION 54What is the procedure for BW Workspace Designer - Composite Provider?There are 2 correct answersto this
guestion.Response: A. Enter aname for your composite providerB. Select datasourceC. Choose startD.  File data source
Answer: AC QUESTION 55ldentify the two main characteristics of Virtual Data Marts on Open ODS and/or EDW? There are 2
correct answers to this question.Response: A. Virtual ProviderB. FlexibilityC. Time- to marketD. Transient Provider
Answer: BC QUESTION 56l dentify state of the art analysis provided by the SAP HANA platform? There are 3 correct answers to
this question.Response: A.  Pattern recognitionB. HANA cloudC. Layering PatternD. MachinelearningE. Predictive
capabilities Answer: ADE QUESTION 57How can you push down a planning disaggregation from SAP BW application layer to
SAP HANA database layer?Please choose the correct answer.Response: A.  Implement the ABAP planning application kit (PAK).
B. CreateaREADS SQL DATA procedure.C. Replicate business planning consolidation tables via SAP Landscape
Transformation.D. Migrate the SAP BW integrated planning from Bex to SAP BusinessObjects Analysis. Answer: A QUESTION
58Which component is not formed by Architected Data Mart Layer? Please choose the correct answer.Response: A.  Propagation
LayerB. Reporting LayerC. Virtualization LayerD. Business Transformation Layer Answer: A QUESTION 59How can you
load data into the SAP BW schema?There are 3 correct answersto this question.Response: A.  Data ManagementB.
TransformationC. HanaFilesD. Loading (ETL) processE. Extraction Answer: BDE QUESTION 60What combines data from
multiple provider sand builds the union sets for the relevant data? Please choose the correct answer.Response: A. A Left InnerB.
A JoinC. A lnnerD. A Union Answer: D '''"RECOMMEND!!! 1.Braindump2go|2016 New E_ HANABW151 Exam Dumps
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